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Note: there is a general rule 1’8 5y 5n MOR PN — to wit, something that is 710K cannot become more 110N. Therefore, if an
animal was a 79770 and then died without AvnY, it doesn’t also become classified as 15723 — it remains “merely” 79270,
There are 2 possible exceptions:

1) 901 128 when the new condition generates additional p110°8 on the body of the 1o’N. For instance,
when a man’s sister becomes married, by dint of her new prohibition on other men, ¥ nWX 1N applies
to her brother as well.

2) 5519 1ooN: when the new condition generates >110’K on other bodies. For instance, S1<->B1; at this point
S1 is 77708 to B2 as v nwx but S2 and S3 are not. When B2<->S2, S1 now becomes 717108 as 1IwN 11NN
as well, since that is an 770°N that obtains vis-a-vis S3.

I 20 mwn:
a  setup: Bl and B2 married to S1 and S2
b  case: Bl dies and then S2 dies
¢ ruling: S1 is still "oR to B2, since she was once nMor
d  observation: this is obvious, compared to previous mwn when she was still included in the house
e  explanation: the first case was originally a lenient ruling...nmpnn nrr ®Y NwM

I 7R % Yn R — relations between B2 and S1 (nwx mink as well as [mxn Dipna ROW] NR NYR)
a  Base dispute: o1 "1/v"
i v"™ —whichever MR was generated first applies
1 if B1<->S1 was first, B2 is 2’0 on account of NnR nwR
2 if B2<->S2 was first, B2 is 2»’n on account of 1nwR mnr
3 however, even if B1<->S1 was first, 1nwR mnr MR (which is generated at B2<->52) is held in
abeyance; when B1 dies, removing nk nwxr MR, .mwr mnk kicks in no o1a»
ii oy "1 —27n for both as long as it is 9010 NO’X (see note)
1 when it is not om MR (e.g. ymnn that became WX NWR or vice-versa), he only finds
culpability on the first MR to occur (depends if she married before or after becoming 1mnn)
2 when itis 90N NON:
(a) 173N 77 >0V "1 maintains MOR HYY YN NOR
(i) Challenge: This only applies if B2<->S2 first (\nwxr Mmnr Mo’R) then B1<->S1 (YnR nwR) —
since S1 is now nMoR to all the brothers (970m); if B1<->S1 was first, there is no qomn!
(if) Possibility #1: but S2 then became nMoR to all the other brothers
(iii) Rejection: that is 9913 MR (see note)
(b) &7 o011 really rejects MR Y YN MR, we just consider him to be a “double-112y” (for
purposes of burying him with the utterly wicked)
3 Possible alignment: dispute follows dispute of X19p 912 and &»n 1 (students of »27) re 3 cases:
(a) 91 doing nMay in WIpNn on NIV
(i) Certainly he is culpable for mar — question re: naw (do we consider the allowance for
nawa nMay to be a blanket 9’1 or just for n1n?)
1. note: impossible to construct a case where the naw MR is n’hn; noNY is
acceptable if done by a 71, n%apy NN are merely 91090 MR and nvPD,
according to »ov "9, is a W
(b) xnv 103> who is also a 1 Sya doing nay
(i) certainly culpable for mn pa — question re: nkmv (do we consider the allowance for
nRMY to be a blanket 1’0 or only for nnNN?)
(c) 91 eating gyn nron that went through 97yn np*o>n (not nvNY)
(i) certainly culpable for pwTp n%aR — question re: n%21 (do we consider the allowance of
eating npYmw nron to apply to all, or just 02an3?)
(d) ®»n’q—in all cases, 2 n¥avn
(e) ®19p1-inall cases, 12vn
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(i) analyzing their dispute:
1. possibility #1: dispute within 01 "1 as to whether 595 ox applies (all agree that
w™MY it doesn’t)
a. rejection:

i. case (a) is Y913, since he was originally prohibited to do nmay, but was
allowed to do narYn; once naw came, NIRYN NR generates DNDR
towards other things;

ii. case (b) is Y713, since he was originally (as a D Yy3) prohibited from
performing nTay but allowed to eat Dw1p; once he became xnv, his
MR expands to include N8

iii. however, case (c) cannot be 553 MR, the DNR are generated
simultaneously (with the 1 np'yn)

2. possibility #2: dispute re status of nnk na MR (simultaneously occurring wMo’KR)
according to Y01 "1 (which could be constructed in all three cases)
a. note: all agree that according to w™, MR Y YN NOR PR, even NNR N2
b. note: all agree that all reject 9513 TOR
c.  rejection: ®R»n "1 could have heard 17 say “2” - following »ov "; but how
could ®79p 12 swear that he heard a1 say “1” — making ®»n "1 a liar — since
there is no ®in who allows for nnx na MR (hence — no “2”)
3. possibility #3: dispute re status of nnNR na M’R according to V"
a. note: all agree that according to »o01 "3, both nnx naand 951 MR apply
b. note: all agree that according to w™), Y913 MmoR does not apply
c. challenge: why does X15p 92 have to take an oath, considering that if the
nponn is within w"’s opinion, he is merely supporting w"’s general
approach? (unresolved)
d. analysis:

i.  R19p 72’s perspective: when 17 was teaching, he taught p”a following
v" (1) and ®»n " following 01 "1 (2)

ii. 8N ’7’s perspective: when 27 was teaching, he taught x»n 1 according
to both — but p”a couldn’t have ever heard (1)

iii. ®”n "7’s explanation of p”"a’s oath: »27 only taught the first 2 cases,
referring to a circumstance of 912 MR, and W7 RPYR — he taught
leniently (1); p”a identified the 3™ case (np»Yn) and added it in, then,
when he looked at all 3, saw that #3 could only exist nn® naa and
assumed that all 3 were taught that way=> v exempts nnr na mor
from double-fault

iv. rejection of p"a’s position (in this explanation): Xn»11 in which w™/"
disagree about the first 2 cases, but avoid the third; must be that w™
agrees regarding np’yn since it can only occur nnx naa

www.dafyomivicc.org A) © Yitzchak Etshalom 2014




